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o FYI g BT F 3G 73T-09 § gRT § 15 7O 497 34 8
Please make sure that the printed pages in this question paper are 15 in number
and it contains 34 questions.

o 797 7 &RT &Y ST RE 7T e T 79T G2 P GH FOC-GH F FEI-y7 97
fergd

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

o PYF FIT F T i@ @ FI7 G Y, HIT B BHB FT9T i@
Before beginning to answer a question, its Serial Number must be written.
o GUC-YikTH # &g H @lell /9 T Big)

Don’t leave blank page/ pages in your answer-book.

o FuC-IRaH F I Fg o e TH Al o sTaRTEagar £ @ eiv frar e T
Fe

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written ansier.
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o GRS SyEr Ud To HT-YH GT HE9q [1@ U do & ffaRHT FIT-9H 9T AT G A 7
ferd ST g Fedl & I UT Frdf FHIT 9T T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective
lype questions.
o FYI g F G @7 @ §F 77 ghkaT a7 & & wse-97 g 7 @8 2 qhwr # 9o 59
T 7 FE o @ e To A aEam
Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

a3 —
General Instructions : —

() oo geT SAEr &

All questions are compulsory.

(i) FTHTGTH G734 F97 E TAH AR GVl A, § FAR T FFe 77

This question paper consists of 34 questions in all which are divided into
four Sections : A, B, Cand D :

GO - 5T GUE F 1§16 T F7 16 F97 B, T9F FoT 1 G F B
Section - A : There are 16 questions from 1 to 16, each of 1 mark.
@ - § 37 @S § 17 § 22 7% T 6 I97 3, JO%F J57 2 F & 2
Section — B : There are 6 questions from 17 to 22, each of 2 marks.
§ - § ;59 @ 723 730 0% 7 8 7 &, 9% 97 4 3% & 8

Section - C : There are 8 questions from 23 to 30, each of 4 marks.
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G- §: 37 @8 F31 §34 7% T7 4 F97 2 J9%F FT 5 F #H B

Section - D : There are 4 questions from 31 to 34, each of 5 marks.

(i) @& - & # & ged 7§ qywaRF [y &7 79 281 37F 8 @ 597 # g A

Section - D contains two questions where internal choice have been

provided. You have to choose one of them.

gug — &
SECTION - A
1. Frfifan & & F9-0 den g 727 37 1
@) o B) 8
(©) <81 (D) 135

Which of the following is not a rational number ?

(a) 49 B) 8
() +81 (D) 1.35
2. af¥ 22531 135 % H.C.F. 458, @ &I L. C. M. B : 1
(A) 675 (B) 1025
(C) 835 (D) 345

IfH. C. F. of 225 and 135 is 45, then their L. C. M. is :
(A) 675 (B) 1025

(C) 835 (D) 345
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3. |WE 4x°~4x+1 B LIH o : 1
1 1
@) | - B T
1 i 1
(€) 2'% (D) 5;1

The Zeroes of Polynomial 4x2 —4x+1 are:

I 1 1
(A) ¥ ® Lo
1 1 1
[C} E:E (D] 5»1
4. W= ® BF-T gH fEaa & 7 1

(A) (x-1) (x+3)=(x=7) (x+3)

B) (2x-1) (2x+ 1) = (x-2)?

(C) (x+4)° =3x(x+1)

(D) 4x? +5=(2x+7)?

Which of the following is a quadratic equation ?
(A) (x-1) (x+ 3)=(x=7) (x+5)

(B) (2x-1) (2x+ 1) = (x-2)?

(C) (x+4)% =3x(x+1)

(D) 4x2+5=(2x+7)?
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5. e Gl & g x— 2y + 3 =0T 3x— 6y + 9 =0 F & B : 1

(A) e T B

(B) i3 &G 7Bl

(C) oG o % Bq

(D) ¥ & P 7H

Solution of a pair of linear equations x—- 2y + 3 =0 and 3x— 6y + 9 = 0 will be :
(A) Unique solution

(B) No solution

(C) Infinitely many solutions

(D) None of these

6. A.P.3,7,11, 15, .....% 109 9 & : 1
(A) 43 (B) 38
(@) —3% (D) 39
The 10th term ofthe A.P. 3, 7, 11, 15, ..... ig::
(A) 43 (B) 38
(c) | =387 (D) 39
7. 4% B AL P. @ @90 A A6l 98 HET 4 X -8 B, A7 IHH Sodl S B 1
(A) -6 (B) 14
(C) -8 (D) -2
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If 3rd and 9th term of an A. P. are 4 and -8 respectively, then its 6th term is :

(a) -6 B) 14
() -8 D) -2
8. @7 # DE ||BC® EC# TS S Hie 1
A

1.5%1%]:?{
b E s
<
?/

B

In figure DE || BC. Find the length of EC.

A
1-57/\1cm
+» D | DEIEN
Y £

B

C

9. IR I THEY B B FAGA 4 : 9 D UK H &, A IS T YOS BT SIT BFW ¢ 1
(A) 2:3 (B) 16: 81

(€) 3:2 (D) 4:9
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If areas of two similar triangles are in the ratio 4 : 9, then ratio of their

corresponding sides are :

(&) | 248 (B) 16: 81
(€) 3:2 (D) 4:9
10. fgeT (4,2) 9 (-1, 1) g & gl 3 - 1
(A) 35 (B) /34
©) 32 D) 6

The distance between the points (4, 2) and (-1, -1) is :

(A) /35 B) 34
€ J32 (D) 6

11. 39 fag & Feuis, i fegatt (4, —3) @ (8, 5) & T ad IWEYE H ARG &9 4

3:1% Jgua # fawmferg &t &, # : 1
(A) (-3, 5) B) (4, -2)
(€) (3,7) (D) (7, 3)

The coordinates of the point which divides the line segment joining the points
(4, -3) and (8, 5) in the ratio 3 : 1 internally are :

(@A) (=3, 9) (B) (4,-2)
A (8,7 (D) (7, 3)
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(8)
12. 9sec’ A-9tan’ A H AH B :
(4) 1 (B) 8
(€ 9 (D) O
The value of 9sec? A—9tan” A is :
(A) 1 B) 8
(C) 9 (D) ©
13. TH g B ........... GACK W@ & Tt #
A circle can have ............. parallel tangents at the most.
14. U 0 I BUEve #H AT6A 8
& o ® o
© O

Area of sector of the circle of angle 0 is :

nr 6
(4) 180°

nr 0
(C) E

360

103/(Set : A)

(B)

(D)

nrzﬁ
360°

nrgﬂ
90°
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15. 9k @& fag P& O &% dat B g9 W PA 8 PB W@ TTER 80° & HV W FHI

&, @ ZPOA J{ET B : 1
(A) S50° (B) 60°
(C) 70° (D) 80°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then ZPOA is equal to :

(A) S0° (B) 60°
(C) 70° (D) 80°
16. BoEm 2.1 Gl arel 41g % Ml B YOI GG B 1
(A) 80.3 GHI° (B) 55.44 G
(C) 191.5 &H (D) 47.09 T

Surface area of sphere of radius 2.1 cm is :

(A) 80.3 cm” (B) 55.44 cm®
(€) 191.5 cm? (D) 47.09 cm?
e -
SECTION - B
17. oW % 5-/3 & oy den B 2

Show that S— y@ is an irrational number.
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18.

19.

20.

21.

(10) 103/(Set : A)

WW@%%WMW%ﬂﬂmwmﬂ:%wq% 2
Find the quadratic polynomial, the sum and product of whose zeroes are
é and —1 respectively.

k& g o 3 fog Frafofaa Was et & omw aa & 7 2

(k=1)x+ [k + 1)y=38k+ 1
2x+ 3y=7

For what value of k does the following pair of linear equations have infinite

number of solutions ?
(k- 1)x+(k+ 1)y=3k-1

SERSUE T

uF g A & i 3 o Bown O g9 @ @ @ 5 W B g0 W B, 39 g9 W W &
A S B 2

Find the length of the tangent from a point A which is at a distance of 5 cm from

the centre of the circle of radius 3 cm.

k% g wm & fog feme afieeor x2 —kx+9=0 % H& IO B 7 2

For what value of k the roots of the quadratic equation x> -kx+9=0 are

equal ?
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22. 52 Tl # S TER B B TH a9 F TS H F U GO MBS0 21| 1 H
TR aTel 9T STST 3 o Sieal s it 2

One card is drawn from a well-shuffled deck of 52 playing cards. Find the
probability of getting a red face card.

q%E -9

SECTION - C

23.qaﬁf%ﬁr%amﬁ%,aawﬁamﬁlmm%eﬂ?aa%ﬁaﬁﬁ%,aﬁﬁﬁ
8 g fear mar B 98 e s i 4

b 1 ' )
A fraction becomes 5 when 1 is subtracted from the numerator and it becomes

% when 8 is added to its denominator. Find the fraction.

24. T faEm qiieer & qell $ Wit 7 HioQ qR G B Ak 81, B off g ;4
2x° -6x+3=0

Find the nature of roots of the following quadratic equation. If real root exist,

then solve it :
2 -
2x° —-6x+3=0

25. o 3 it fedr e 7 § e R 7 4

How many three digit numbers are divisible by 7 ?
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26. 10 i 7= 0% @i & R W foFH W 9 W 8 Hi A F9R W fom w fagw %
TEeRt Bl §AN F ER 4 9l & fEa R @ gl s 4

A ladder 10 m long reaches a window 8 m above the ground. Find the distance

of the foot of the ladder from the base of the wall.

27. P®H WH & PG, Ak g A2, 3), B2, P #iX C(6, -3) TE B 4

Find the value of Pif the points A(2, 3), B(2, P) and C[6, —3) are collinear.

28. IR A, B3N CRAYT ABC % sia#Hivr &, @ Resy fF 4

; [B+C] A
sin = Ccos —
2 2

If A, Band C are interior angles of a triangle ABC, then show that :
i.n[ B+ C’J A
S = C0S —
2 2

29. 10 G B o UF g A PS Sfar I W UH GEBNT SARIT B GG Beds &1 aEnd
ST DT 4

A chord of a circle of radius 10 cm subtends a right angle at the centre. Find the

area of the corresponding sector.
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30. T T & TF S Gepl offam 81 i sid Hifow & o gen 4

31.

(i) TP T GE 2,

(i) UH faww gE 2

A die is thrown once. Find the probability of getting :
(i) a prime number,

(i) an odd number.

S -T
SECTION — D
7 o T 797 P BT § UF Fad @Y 3 BT F I+199 F9 60° 7 A TqB TS H
SATHA PIOT 45° 31 AT B HAR G BTy 5

From the top of a 7 m high building, the angle of elevation of the top of a cable
tower is 60° and the angle of depression of its foot is 45°. Determine the height
of the tower.

HeEr
OR
g P
1+sm9+ cos:ﬁ = Dsadl
cos 6 1+sin®
Prove that :
1+sinB 0s B
+8in cos L -

+ ]
cos 9 1+sinb
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32. 6 T BT 1 UF g9 @ieT 9 & ° 10 99 ¥ Rm @ AR @ g9 W s W @i
TET FIIG T I TSar Wi 5

Draw a circle of radius 6 cm. From a point 10 cm away from its centre,

construct the pair of tangents to the circle and measure their lengths.

33. 0% fgar B 3.5 @l a0 @F oF B R W 8, S oH B 9 @ o W
FERNT B 39 fEdm @ @l SO 15.5 99 B 39 fadm @ 6y u9E &%d S
HifoTa 5

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of same
radius. The total height of the toy is 15.5 cm. Find the total surface area of the
toy.

HYqr

OR

Brogr 4.2 G art 41g & T ol b ey B 6 G 9 O dW & &9 F g S
2| AW B HAE T HRCY

A metallic sphere of radius 4.2 ecm is melted and recast into the shape of a

cylinder of radius 6 em. Find the height of the cylinder.

103/(Set : A)
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34. Fyefafed arelt 35 771 @ awrar & (sfter #) qerfdh 31 Ay amwar & §@ #ifl ;5

R X (% H) 45-55 55-65 65-75 f5-88 85-95

TR @ dEn 3 10 11 8 3

The following table gives the literacy rate (in %) of 35 cities. Find the mean

literacy rate :

Literacy rate (in %) 45-55 55-65 65-75 75-85 85-95

Number of cities 3 10 I 8 >
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